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PAPER-II
PSYCHOLOGY

Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. 1 .oociiiiiiiiie e,

(Name) (To be filled by the Candidate)
2. (Signature) Roll No.

(Name) (In figures as per admission card)

Roll No.

J[UEY1]2

Time : 1/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(i) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 8.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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PSYCHOLOGY
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. We sometimes attempt to solve 5. Match List-I with List-II and
problems by applying the techniques indicate your answer using the codes
that worked in similar situations in given below :
the past. What type of method are we List — I List — IT
using ? . (Function) (Area of the Brain)
(A)  Trial and error p. Visuo-spatial 1. Hypothalamus
(B) Analogy function
(C) Algorithms g- Social norms 2. Cerebellum
(D) Heuristics r. Releasing 3. Orbito-frontal

factors cortex

2. The fact that a nearer object may s. Balance 4. Parietal cortex
obscure a more distant object from Codes :
the view is due to : |% q r S
(A) Figure and ground (A) 2 1 4 3

L (B) 1 2 3 4
(B) Proximity () 4 3 5 )
(C) Interposition (D) 4 3 1 2

(D) Closure
6. Read each of the following two

3. Match List-I with List-II and statements — Assertion (A) and
indicate your answer with the help of Reason (R) and indicate your answer
codes given below : using the codes below :

List-1 List - IT Assertion (A) : In Edwards
(Phenomenon) (Psychologist) Personal Preference Schedule
p. Learned 1. Bandura i(EEsPeSd)’ forced choice format
}éelp le‘,s‘sness 5 Seli Reason (R) : Forced choice
q. Cogmtivemap 2. seligman format reduces acquiescence
r. Observational 3. Wolpe response set.
learning Codes :
s. Systematic 4. Tolman (A) Both (A) and (R) are true and
desensitization (R) is the correct explanation
Codes : of (A).
P q r S (B) Both (A) and (R) are true but (R)
(A) ) 4 1 3 is not the correct explanation of
(A).
E]é; ? ‘31 ‘21 ; (C©) (A)is true but (R) is false.
D) 4 ) 3 ) (D) (A)is false but (R) is true.
) ‘ 7. Why do individuals with high need

4. In a 3 X 4 contingency table, using for achievement quit early when
chi-square test, the degrees of faced by very difficult task ?
freedom associated with the chi- (A) Get tired easily
square will be : (B) Have poor perseverance
A 12 (B) 9 (C) Have high anxiety
© 7 (D) 6 (D) Have high need for efficiency
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T A% & &, &9 fha uR i fafa & (ThT) (wiEe® &)
TR T T E 2 p. TEWMME 1. sEddemd
(A) T 3R e fafy T
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r. UefeHs Ity 3. @il () (&) IR (R) <F Wl & 3 (R).
§ (A) =l T& AT E |
s. SHiTH 4, T . .
Joy - (B) (A) ¥R (R) SHi Wl &, W] (R),
_— (A) Sl &l =T el ¢ |
S p q r s (C) (A) W&l &, b (R) T € |
A 2 4 1 3
EB)) 2 : X (D) (A) TeAd &, i (R) W&l & |
© 1 3 4 2 7. =T S 3MERIHAT ATl ST HicH
® 4 2 3 1 e B BT e i BTE A § 9
4. TF 3 x 4 G AT H FrEent (A) TR | & STH o HRT
RGO BT ST R g HEA @ e (B) ¥ 1 Al % HRUT
AT B i B (C) S=a giear= & & F0
A) 12 B) 9 (D) wm H ITI-MEAYTHAT & F
© 7 D) 6
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8. Assertion (A) : According to R. B. 13. What is the correct sequence of
Cattell, source traits are events given below ?
important in the understanding 1.  Releasing of neurotransmitters
of personality. o 2. Post synaptic potential
Reason (R) : Oblique rotation is used 3. Binding on receptor sites
Co desf?r uncovering source traits. 4.  Synthesis of neurotransmitters
(A) Both (A) and (R) are true and (R) Codes:
is the correct explanation of (A). (A) 1 2 3 4
(B) Both (A) and (R) are true but B) 4 3 2 1
(R) is not the correct © 4 1 3 2
explanation of (A). (D) o) 4 1 3
(C©) (A)istrue but (R) is false.
D) (A)is false but (R) is t
( ). (A) Is false bu (. ) Is true 14. Assertion (A) : The amplitude of the
9. Which of the following represents . e
. : action potential in a neuron
the Tetrad equation as given by does not go beyond + 40 mV.
Spearman ? Reason (R) : Neurons function on
(A) 1, X1, =1, XTI “all or none” basis.
1275134 = 1y 213
B) r,XT,,=r,XT Codes :
(B) 113 Xty =114 X123 (A) Both (A) and (R) are true and
€)1y Xry=13XTyy (R) is the correct explanation
(D) All of these of (A).

10. What among the following define a (B) Both (A) and (R) are true but
problem space ? (R) is  not the correct
1 An initial state explanation of (A).

2: A goal state (C) (A)is true but (R) is false

3. A set of operations (D) (A) is false but (R) is true

A 1,3 B) 1,2

© 2,3 D) 1,2,3 15. A man reflects his anger from his

11. A generalized picture or model of an boss to hl? Chlld’ is an example of :
object or event, learned in the past (A) PrOJeC.UOn '
and stored in memory, is : (B) Reaction Formation
(A) perceptual constancy (C) Displacement
(B) memory trace (D) Regression
(C) prototype
(D) cognitive map 16. Speed and power tests can be

12. Assertion (A) : We are able to distinguished on the basis of :

recognize the similarity and 1. Time limit
differences of two objects. 2. Difficulty level
Reason (R) Dissociable 3. Verbal/Non-verbal content
subsystems operate Codes :
simultaneously in each (A) land?2
cerebral hemisphere. (B) land3
Codes : (C) 2and3
(A) Both (A) and (R) are true and (R) (D) 1,2and3
is the correct explanation of (A).
(B) Both (A) and (R) are true but 17. Natural concepts are based on :
(R) is. not the correct (A) prototypes
explanation of (A). (B) a set of rules/properties
(C) (A)is true but (R) is false (C) schemas
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8. AfWEUA (A) : IR FA F SFTER 13. TFfefad searet 1 @t 9 o € 2
AfF F A % e A 1. et arwe & e
T L e 2. TESTE
%@W% e S 3. R T W g Bl
T | 4, e URUH T GIAuT
£ R
(A) (A) ¥R (R) T T &, 3T (R), & 4 3 3 1
(B) (A) ¥R (R) THI Wl &, @b D) 2 4 1 3
(R), () 1 T Tl i & 14. FHHAT(A) : TH A | o6 fovga
(C) (A) Tl &, wifehT (R) Teid & | A
(D) (A) TTerd &, eifeh (R) Wl € | %2?;?40@
g W%ﬁgaﬁ?w%?l “*(Ra)g ”ﬁﬁ;“wmﬁ’
(A) Ty XT3y =1y XT3 — S TR B
(B) 15 X1y =114 X155 (A) (A) 3T (R) 3 W ¥, 3 (R),
(©) 1y XT3 =13X1y (A) I TE AT F |
(D) U aHt (B) (A) 3 (R) 3l W £, 3% (R),
10. freAfefed & @ gaerfie ®i oRwa (A) I TE A T T |
FATE : (C) (A) e &, wifehT (R) TAT & |
1. qawmﬁq%zaﬁr (D) (A) TAd &, wAfhT (R) TET & |
2. THTE 15. TF EH TN S H [T O T
3. U UEed 92 : )
(A) 1,3 B) 1,2 W e € | g e § 9
C) 2.3 D) 1,2,3 TeeehT SRTeXT & 2
11. ﬁ@aﬂmm%wwﬁgﬁa Eg)) TEToT -
I Hied, TR AT T SINIER]
o R St wfrues § dt ¥ (©) foemm
ﬁmﬁbﬁﬁ@wﬁmw%? (D) e
(A) TTEHSE : .
(B) s ° ﬁwﬁﬁmw%% v
(C) WRRTEY (JTHITET) '
(D) W ; W*ﬁgw
12. e (A) : 89§ Twgen W ‘ & g s
HHMAT 3T 3R H T K U & | 3. / ferrr—=g
% (R) . et 39 womedt ®e:
T e T & s o Lase
| s
E3E .
(A) (A) 3R (R) 3H1 @& & 3k (R), 17, WIpiae Hehea frfafe w0 sraia
(A) I TET AT F | B €
(B) (A) 3R (R) Tl Wl &, AAfhd (A) TITET (TTFITET)
(R), (A) Tt Tel =me T ¥ | (B)  Tegici/omt =1 #e
(C) (A) e &, wifehT (R) TAT & | (C) @hiHr
(D) (A) 3R (R) SHI T & | (D) AT
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18. Match List-I with List-I and 22. What is true of drives ?

indicate your answer using the codes 1. Internal states
g1ver£ })scilgvi/ : List — II 2. Aroused. by tension
(Presentation of (Type of 3. Underlying need
reinforcement) reinforcement) 4. Guided by external stimuli
p.- Anunpleasant 1. Positive (A) 1,2and4
stimulus is reinforcement B) 1,2and3
presented to ’
decrease (©) 2,3and4
behaviour D) 1,2,3and4
q.- Anunpleasant 2. Negative
ignr?(;l\l,gz lti reinforcement 23. Intellectual functioning is mainly in
increase the domain of which lobe of the
behaviour Cortex ?
r. A pleasant 3. Positive (A)  Occipital lobe
stimulus is punishment (B)  Frontal lobe
ggrsggst:d to (C) Parietal lobe
behaviour (D)  Temporal lobe
s. A pleasant 4. Negative
stimulus is punishment 24. A nerve cell that responds to a
removed to vertical line but not to horizontal line
decrease is an example of
behaviour

Codes : (A) linear perspective system

P q r S (B) feature detector
(g) é % 2 ‘11 (C)  pattern analyser
EC; 4 1 3 2 (D) selection and organization
(D) 3 2 1 4 process

19. Short term memory is capable of

holding approximately how many 25. The visual signals from each retina
items of unrelated information ? reach striate cortex via which of the
(A)  one following ?

Elég nge): i‘(’) fﬁgg (A)  Lateral geniculate nucleus

(D) tento twelve (B)  Medical geniculate nucleus
20. Learning of fears is best explained (C)  Infero-temporal cortex

(K): Operant conditioning (D)  Posterior parietal cortex

(B)  Classical conditioning

(C)  Observational learning 26. Observational learning involves :
(D)  Latent learning 1. Attention and retention
21. Choose the correct sequence ‘of 7. Attention and Reinforcement
emergence of the following theories 3 Production processes and
of emotion : : uction p
James — Lange motivation

Cannon — Bard 4. Reinforcement and
Schachter and Singer motivation
Darwin (A) 1land 3 only
3 2 4 (B) 2 and 4 only
4 3 2 1
4 1 2 3 (C) 3 and4 only
1 2 3 4 (D) 1and?2only
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18.

19.

20.

21.

q. FEREFEEF 2.

. FARREFEH 3.

. FARRATFNEH 4.

ALl B TS (IR AL F 9
gofed FIvT ok e 5w 7w wet i

e ¥ 3¢ ST
it - 11
(WW)

e -1
(T Y Tf)

p. TFUER &l FH A 1. FHRIS

EENE

& foTT 21 SEiaes
W T

dhlXIcHh Uddd
fow i SEues

T g

HHRTHE 5
T gEg sEuw

T T

THRHE 5
T gEg sEuw

T g

E T

(A)
(B)
©)
(D)
HTEHITAH T TEEF T o (bl
TET ol GOT Y Gehell & 2

A) (B) ¥ =R
(C) u=dAA (D) ITITRE

T % I H FEAATET § J R
g T e Bl € 2

(A) ﬁmﬂ'\:ﬁ EECRR]

(B) &I 3TId4A

(C) Vel stfepme

(D)  3TeRT 3Ty

Gom & frAfeiad fasial & 339 %
TRl 5 T BT

1. S

2. FH-aE

3. I wE R

4. =few

(A)
(B)

(©)
D)

WhNO—=T
N — W NLo
—_ W AW
EENN O R N SN ]

e e
N — W W
[SSI ST (O ) \S)
A=k

22,

23.

24.

25.

26.

T % AR H o Wl & 9

1. STAN I

2. @ 9 el

3. JAMTEd STl
4. 9T RO O et
(A) 1,234

(B) 1,233

(C) 2,334

(D) 1,2,33W4

o < Y o o
dllgch Hehld hlcad Ebsf [hd HlleT (WUS)

FHIEAH G ?

(A) TS
(B) sw@EE
(C) 3@ Ul
(D) Ut

CITTeRT SHITSTeRT, ST ofv Ufdd § Wfdishar
AT & AhT &fael ufed W &I, I8
frfefaa =1 SeeeoT e

(A) g uRwes yore

(B)  ATICTRTOT TRIH

(C)  ufqum faeios

(D) = 3R TS Uk

JF ge-ueet | g Hohd HTeIRad
T ¥ faeh ATeA ¥ gRER goige a%h
TEEAT &

(A) I SAHFHeIe Feh

(B) HeHAdl SIMEeiT HEF

(C)  THI-THIRS ToThe

(D) URRIR-URTEA Tophe

Heyor et § fetafad g €
1. 3fFYe 317 gron

2. AU 3R T

3. ScIe Ufshar 3 ShauRom
4, FIAT 3T SATTTROT

(A) 13X 3FIE |
(B) 23N4TEE |
(C) 33AR4TEE |
(D) 13A2TEE |
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27. Which of the following factors
reduce the accuracy of eyewitness
testimony ?

1. Suggestibility

2 Source monitoring errors

3 Interference

4. Decay of memory traces

5 [llusion of outgroup
homogeneity

Codes :

(A) 1,2and3

(B) 1,3and4

() 1,2and5

(D) 2,3and5

28. Microsleep occurs mainly due to one
of the following :

(A)  Sleep disorder
(B)  Drugged state
(C)  Sleep deprivation
(D)  Dreaming state

29. Self-Efficacy is
(A) A person’s mental model of

his or her ability and
attitudes.

(B) A generalised evaluative
attitude toward the self that
influences both moods and
behaviour

(C) The process by which a
person comes to know or
perceive the personal
attributes

(D) A set of beliefs that one can
perform adequately in a
particular situation.

30. Which one of the following is a
product in Guilford’s model ?

(A)  Evaluation

(B)  Cognition

(C)  Transformation
(D)  Symbols

Instructions for Questions 31 to 34 :
Read the following information and
answer the four questions that follow :

A researcher wanted to test the
hypothesis that a given drug would
adversely affect the rate of learning. A
group of 40 subjects was employed in the
research. Each subject was required to
learn a task upto two errorless trials. Then
each subject was given a specified drug
dosage (Img/body weight in kilogram) and
thirty minutes after, the subject was
required to learn another equated learning
task upto two errorless trials. The number
of trials required to learn each task
followed a normal distribution. The mean
number of trials required to learn the tasks
were 24 and 20 only for normal and
‘drugged conditions’, respectively. The
two conditions had comparable standard
deviations. The mean difference was tested
by a suitable statistical test and the
difference was found to be significant at
.01 level.

31. What can you conclude about the
researcher’s hypothesis ?

(A) The hypothesis has been

verified

(B) The hypothesis has been
rejected

(C) The hypothesis has been
partially verified

(D) The data are inadequate to
evaluate researcher’s hypo-
thesis.

32. What statistical test appears to be
suitable for evaluating mean
differences ?

(A) Independent samples t test

(B) One-way ANOVA for
independent groups

(C) Paired samples t-test
(D) Chi-square test

33. The dependent variable in this
experiment is :

(A) Drug dosage
(B) Trials required to learn the task
(C) Body weight
(D) Time interval between the drug

administration and learning the
second task
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27. T=fafEd § @S9 ¥ SR 9RY Tae

% e I URSEAT FF HA § 2
1. G

2. &d FRE et

3. IRy

4. T @l B

5. T OHE 9EE9dl & 99
T4

(Z) 1,233 (B) 1,334
(C) 1,235 (D) 2,33R5

28. GeH-TAa1 T=feifad o @ gead: fas
HRT Bl & 2

A) T
(B) 3y =i feafq
(C) FsrE=m

(D) @ g

29. WU9EHIAT (=fetiaa 8 F 1 & 2
(A) T =afe & amEar @R
gt & dafed®  AMNGSH
PINEN)

(B) 34 WA WMMAGd  godiwd
afirgta, S fot @R Saer gl
T TeTferT T € |

(C) Ul ufskan, 5@ g1 g =t
At TON Bl BRI I
FATE |

(D) U¥ fava & o =T i
fomiy o SugeRt FoaTe Y FehdT
g

30. fowe & ufdest ¥ Fefaied 8 § &9
@h‘m%?

(A)  TIHA (B) WA
(C) =R (D) vd®

7% 31 9 34 & foid 3R

frefafga gar & ulgr @R
ffetEd = ue=l T TR S

TUh IMYhdl 38 UNHeTT 1 IIETr
AT TR § T & TS 3wy F AT W e
W UfdeheT TE TSd € | 40 WASAl & U

g H IMEHE § I R T | qE A
T AT &1 I AMed T TR a6 FE
T AT HET AT | ST TS eIk TI=T
fafafese sty =t o (1 MM/ Em 5 ;WR
% g5 & 3TER) Jf TE 3R A e a8 39
i ¥ GEqed A FHE T % few
feam man, fSrgesr s1fermm 31 Jfe e @ wR)
ToH HET AT | MY & UG BT AT
THMERT o | 3T o TGl o SEd g
[T et 3R ey 6t feafq § AT shaet
24 3T 20 o | T Teafqar § AFe faaem
T U SIET AT | SUge Wit uRieTor
TN 3 3T 1 gdeor feRar w3 01
TR T I8 3T A 7 T4 |

31. INYRAl P UNHCST & aR H T F

ey f7epter Wepa € 2

(A) UREHETAT T G o T |

(B) UReReuHT @i fepd X T T
g1

(C) 3T Uhou-T 1 ARTH AT
fepam T |

(D) ¥NYHAT B HETAT H Godiw
F & T 3 e ST © |

32. 3fEd % ST H GoAHT A & folw
?ﬁmqi%a%ﬁuﬁwuﬁmﬁﬁ%ﬁm
0
(A) IC UfageT 2-URIeTor
(B) @dd O9El % oW a°-a T U o

I T (ANOVA)

(C) T\ WageT f-ulieror
(D) TS TRIeTor

33, TE WO H I uRee €
(A) 39Y H GIH
(B) #@ % W & fow fpw U
LR2IES]
(C) IR H aH
(D) 39y 3 3R THT HE ST &
o T 3R
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34.

35s.

36.

37.

The above information suggests that :

1. Parametric model should be
followed in data analysis

2. Non-parametric model should
be followed in data analysis.

3. The scores under two
conditions appear to have
homogeneity of variance

4. The scores under two
conditions appear to be

heterogeneous for variance.
Codes :
(A) 1 and 3 only
(B) 1 and4 only
(C) 2and 3 only
(D) 2 and4 only

Railroad tracks that seem to draw
closer together as they recede into
the distance are an example of

(A) linear perspective
(B) relative size
(C) binocular vision

(D) feature detection

Memory for particular events is
called :

(A) semantic
(B) sensory
(C) episodic
(D) procedural

A test of Abstract Thinking had the
norms in terms of normalized T
scores (Mean = 50, SD = 10). If the
subject received a T score of 60,
what would be his percentile rank ?

(A) 16

B) 60
(C) 66
(D) 84

38.

39.

Match List-I with List-I and
indicate your answer using the codes
given below :
List -1 List - IT
(Childhood (Personality
experience) characteristic)
p. Little 1. Overly
gratification dependent
in oral stage
q- Excessive 2. Impulsive
gratification
in oral stage
r. Overly harsh 3. Hostile
toilet training
in Anal stage
s. Relieved 4. Compulsive
toilet training
in Anal stage
Codes :
p q r S
(A) 2 4 3 1
(B) 1 3 4 2
©) 1 4 2 3
(D) 2 3 1 4

Multiple Abstract Variance Analysis
is used to study the effect of

(A) one independent variable on
more than one dependent
variables

(B) more than one independent
variables on one dependent
variable

(C) more than one independent
variables on more than one
dependent variables

(D) None of these
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34.

3s.

36.

37.

STYERT I | Ul T § o
1. < fawemor § urafass e &

STUATT STHT =1 |

2. = foveiwor ¥ evretets 9T
STUATT STAT W1 |

3. T Tofqa # @R Ouwur "

(A) HoeT | 33
(B) whaet ] 34
(C) HoeT2 33
(D) HaA2 3R 4

RIS & ¢ §U W AOH | T gl
T @ s ¢, ¥ FreAfdtad 9 o#
Tepereht SETX0T & 2

(A) e afeg
(B) dTUET 3THR
(C) e gt

(D)  TI&IOT WO

(A) 3T
(B) Het

(C) wrdfiTH
(D) WTHATHS

s foe Wt & ARUE
TSR 2 TH (i = 50, TF B =
10) & 5T & | 3 v & 60 H 2
qreh eI & dF SHeh! IIdTcHeh Lo o
I

(A) 16

B) 60

(C) 66

(D)

38.

39.

-1 & ge-11 ¥ gaferd Hivte 3T

T T 7T e A ST FA T ST
waﬁﬁrq:
e -1 = - 10
(T & FH) (arﬁac—cr;lﬁ
fersrant)
p. HIfGe /e 1. STcrdes S
o = giroT
q. e sewen 2. 3wt
T ITcmeh
gRroT
r. RN E 3. foy
AT T
I G
TTeTeTOT
s. § el H 4, 9
TesT v
TTTeTOT
E T
P q Tr S
A 2 4 31
B 1 3 4 2
© 1 4 2 3
D 2 3 1 4

frefafea & 9 fFaer w9 @ &
fow sg oM weRvr favelsur #1 wE
fopa ST 7 92

(A) UH T iy omfyd uReasar
Teh W Iered sl gere

(B) UH 3IMyq URad W UH J
AfaeR ST aRereat 1 o

(C) TH O Ausw ofya uRaet W
UH H 3y Wad URadr H

(D) T 9 HiE
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40. Match List-I with List-II and indicate 43. Assertion (A) : A large body of
your answer using the codes given research indicates that
below : violence and aggression 1is

List =1 List — II learned through observation.

(Brief description)  (Type of Reason (R) : Learning through

reinforcement) observation takes place due to

p. reinforcement 1. fixed ratio exposure to similar situation
oceurs after a and experienced reinforcement.
set time period Codes :

q. reinforcement 2. variable (A)  Both (A) and (R) are true and
occurs after a interval (R) is the correct explanation
set number of of (A).
responses (B) Both (A) and (R) are true but

r. reinforcement 3. fixed interval (R) is  not the correct
occurs after a explanation of (A).
varying time (C) (A)is true but (R) is false.
period (D) Both (A) and (R) are false.

s. reinforcement 4. variable ratio
occurs after a 44. Some steps in test construction are
varying listed below :
number of 1. Internal consistency assess-
responses ment

Codes : 2. Item analysis

P q r S 3. Test-retest reliability

(A) 3 1 2 4 4. Item writing

(B) 1 4 3 2 Usually, the above steps are carried

©) 4 3 1 2 out in the following sequence.

(D) 2 4 3 1 (A 4,2,1,3

B) 4,1,3,2

41. Which of the following effectors is © 2,413
mainly responsible for instrumental (D) 4,3,2,1
(motor) response ?

(A)  Smooth muscles 45. What is the correct order of the

(B) Cardiac muscles following conflicts occurring in an

(C) Skeletal muscle individual’s life ?

(D) Adrenal gland 1. Autonomy V/s self doubt

2. Identity V/s Role confusion

42. A process following learning during 3. Competence V/s Inferiority
which a memory becomes more 4. Intimacy V/s Isolation
firmly established is called : Codes :

(A) over-learning (A) 1 2 3 4

(B) consolidation B) 2 1 4 3

(C) transfer period © 1 3 2 4

(D) constructive processing MDb)y 3 2 4 1
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40. TAGCH STl % UHR H {gaRer ¥ 43. AFHUT (A) : FTHIH H TS FHA
Feferd I ; T 9 W gEw ¥ F R e
e -1 T -1 AHEHA USUT % AEH o
(fera=on) (A & e el & |
T T (R) : UEOT % HWEEH ¥
b, Frifmam 1, i R S A 3”;
< % e ST e '“%i'if e
T B E | FROTEAE |
q. WisRATe w2, GRE! S < o
feifa g % (A) (A) 3R (R) I @ £, 3 (R),
IS GATAT BT (A) 1 T AT E |
gl (B) (A) 3 (R) aFf Wl &, Afe
r. Uedi a3, FivEd fae (R), (A) Tl &l =T =781 € |
3ty & a1 (C) (A) Tl g, oifeh (R) T € |
TTH B € | (D) (A) 3R (R) IHT To1d & |
s. OREd T 4. OE! S
! HE % .
wﬁma; 44, T fHT0T % P =R A T T E
_— 1. AR S o
° b q r s 2. =g fagero
A 3 1 2 4 3. QIR TeOT faverad
B 1 4 32 4. W AEA
© 4 3 2 AT 3T WROT At s o
(D) 2 4 3 1 ﬁ;q@nﬁ%‘
. A 4,2,1,3
41. TfafEd § 9 o9 9 9GS Taw (B) 4.1.3.2
TTRI o foTT Jead: STRaTE 81 € 2 ©) b4l 3
(A) TesT AIGurET (D) 4,3,2,1
(B) 5T HiGurEf
(C)  HepreT HIGUTYT 45. g wifer o Sie | f=fefad g5t
(D) Ufgaat afr e S T ?
1. EIadn SA S-S
42, UF vk e Fefatea § | emrm 2. UEEH S iR 9
o Wi Tty fer & STt &, 39 % 3. EET S g
3 4. HTEAT S SHT
(A) i st HT
(B) wHHA A 1 2 3 4
(C) TIT=ROT 37aTy B) 2 I 4 3
(D)  TEFTEH WUl © 13 2 4
(D) 3 2 4 1
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46.

47.

48.

Which of the following attitude
scaling method/s has/have been
proposed by L.L. Thurstone ?

1. Paired comparison

2. Summated ratings

3. Scalogram

4, Equal appearing intervals
Codes :

(A) 2only

(B) 4 only

(C) 1 and4 only
(D) 2and 3 only

Match List-1 with List-1I and indicate
your answer using the given codes :
List -1 List - II
(Validity type) (Brief description)
p. Predictive 1. Covering all the

validity important areas in
a given course of
study
qg- Concurrent 2. Yielding
validity theoretically

consistent results
High relationship
between the new
test and the

r. Construct 3.
validity

established test of

same trait
s. Content 4. Forecasting some
validity significant
behaviour on the
basis of  test
scores
Codes :
p q r S
(A) 3 4 2 1
(B) 4 3 1 2
©) 2 1 4 3
(D) 4 3 2 1

During emotions skin conductance
changes occur due to the activity of
some of the following :

1. Sweat glands

2. Adrenal glands

3. Parasympathetic nervous system
Codes :

(A) land2

(B) 1land3

(C©) 2and3

(D) 1,2and3

49.

50.

3. Decision .

4. Problem S.

What among the following is true for
mental set ?
1. It can enhance the quality and

speed of perceiving and
problem solving under some
conditions.

2. It can enhance the quality and
speed of perceiving and
problem solving in new
situations.

3. It may inhibit or distort the
quality of mental activities in
new situations.

4, It may inhibit or distort the
quality of mental activities
under same conditions.

Codes :

(A) 1and?2only

(B) 2 and 3 only

(C) 1and3only

(D) 3 and 4 only

Match the following :

List -1
1. Thinking

List — II
p- Mental activity
through  which
we transform
available
information in
order to reach
conclusions

2. Reasoning q. An activity that

involves the
manipulation of
mental
representation of
various features
of the external
world.
Processing
information in
various ways in
order to move
toward  desired
goals.

The process of
choosing
between two or
more alternatives
on the basis of
information
about them.

making
solving

Codes :
A)

B
5
D

W RT
Wh—WwWOo
—N RN
A==
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46. Tr=ffad & § 9 @ TALUA. = 49. TefeEd ¥ ¥ gEfgs o= (5 #
R aifirgha T S fatfate & 3E o @Wﬁmﬁ)%wﬁww%v
1. g o Fo Tl § T 3R g
2 TeETe i WO T Elff%gwonﬂ 3T Tfq
3. HIIShH (EheTlITH) SerEedie |
4. EF WS A A R I
- T GATYM S TOTERT 3R T
N . ol T ThAT ¢ |
(A) 3. @ % fefew A gFes
(B) et 4 foRaTeheITdl St TUTERT T T AT
(C) =ae | 3iR4 forgrd T T € |
(D) a2 3T 3 4. T% §AH fefqa § wErEs

47. gE1 H FEI ¥ gEfem BT eiR fshaTeheTTal sl Ut I A AT
T ST T FT H TG FA G T ferget = e
waﬁﬁq: ®<:

i e 5 i
p. afa=r gaw 1. %’qn@m% (D) hereT 3T 4
e T HETeuT
T FHTET 50. fAfAREd i AT I :
q Tl 2. Jgifaes wed T=ft - 1 = - 1
; hamehea ek
r. IO S 3, giwﬂﬂmi AT ﬁg‘;\;’;mw
) GEEl T
et s W ¥ v
ST WEHSH TYART B ¢ |
s. fowames 4. odieIor & gHE & 2. TqHT q. U fopan e
et YR W D STel STt o faf=
el SRR A b AT
e T T Ui
F: BTE |
® b q r q 3. Mo e r. aifsd oedl ® SR
A 3 4 2 1 ST o forg fafer=
B 4 3 1 2 TR T AT
@© 2 1 4 3 ThH0T HTAT |
® 4 3 2 1 4. qEENn s. AT Y ATH

48. TAT % IRA T=fcAfad § F gl AT foeat & I |
fshaT & HRUT @1 & Haed § UReH T T o6 3R
BT 2 W 9§ T
| @ A I UTSHAT |
2. Q@ﬂﬂl‘lﬁl . . e p q r S
3. O Tomtatess dfeer o A) 4 3 ) 1
H (B) 2 1 4 3
(A) 13R2 (B) 133 © 3 4 2 1
(C) 2%R3 (D) 1,233 ™ 2 3 1 4
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